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1.

W

Tomas has one spin of the circular spinner shown below.
Two of the lines shown on the diagram are diameters of the circle.
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Diagram not drawn to scale

(a) The table below shows the probablhtles of Tomas obtaining YELLOW, WHITE and

GREEN with one spin of the spinner.
Complete the table.

Colour YELLOW | WHITE | GREEN | RED BLUE
Probability 0-2 0-12 0-18 O-1¥| 0-32

//u,v) rusf c.,(,f uéC{C{ fe [ which & ¢
( b)  Find the probability of obtaining either WHITE or GREEN on the spinner. uo-fiuc, s/' !
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2. The scatter diagram shows the height, in cm, and the weight, in kg, for each of 20 members of

a sports club. /I \,\] < | PC, (ﬂ}'
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(a) Write down the height and weight of the heaviest of the 20 members of the sports club.
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Write down the type of correlation shown by the scatter diagram.

Draw, by eye, a line of best fit on the scatter diagram.
DONE ON GRAPH [l
Estimate the weight of a person of height 155cm.

& | =0
)

Is it possible to estimate the weight of a person with a height of 210cm from the scatter
diagram? You must give a reason for your answer.

YES. eéj - You__cowld use  160cm

and @.éi.@z.g.ﬂr) ....... - %> ......... L ———

KRICcm = 1% == L |
. |<O)
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(a)

gles

4
strai i9 h line
(b ) Calculate the size of the interior angle of a regular 10 sided polygon.

Methed 2




(c)

(i) Write down the bearing of point B from point 4.

(i) A point D is to be plotted on the above plan.

The bearing of D from Cis 038°, and the bearing of D from A is 305°.

Find and mark the position of D on the above plan.
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4. (a)

(b) Translate the triangle shown 4 to t]
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Reflect the triangle in the line x = -1.
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(c¢) Enlarge the triangle using centre (0, 0) by a scale factor of I gf ™
7 v
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(d) The diagram below shows a triangle 4BC. Find and shade the region inside the triangle

which satisfies both of the following conditions.
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(i) All points in the region are nearer to AC than to AB. <— Draw @ line  Hh ot ey

(ii) All points in the region are less than 5cm from A.

Dowd Gre of arcle
centre A radius Sem
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10
5. (a) Cheryl scored 60 marks out of 80 in a test.
Express Cheryl’s score as a percentage.
.......................... 60 = b =3 = IS = 1L
e BB B S el L e A
(b)

Share £300 in the ratio 5 : 7.
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(a) Write down the nth term of the sequence 6, 10, 14, 18, 22, ...

Skaets n beawse c/L 7 pe ¢ 4 above 2]
(b) Solve3x+4=8-7x.

&'

- 2
SRS s = N
S 2]
Turn over.
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7. (a) Explain how you know that 24 is not a square number.
...................................................... T T
~ \ i T
................................................. Z‘ZR%ZX‘S
............................................................. T e mer S AN~ - T
2. & ™ 1 17 e

...................................................................... e ODD ot

..................................................................... e DR TS o300 2SO
[1]

(b) Express 112 as a product of prime numbers in index form.

B

................................................................... /\

............................................................... @Séz

................................................................................. / N A
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(3]

(¢) Evaluate - + -é-
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................................................................................................................................................................................................................... [ 1]
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(d) Evaluate 2% X 3%. Simplify your answer.
! i TR ‘
oA 2y Now Gnak TS
......................................... l\g‘}jc("’wg/s
................................................. L i
(2]
8. The length of a table top is 2050 mm, measured to the nearest 10 mm.
(a) Write down the least and greatest possible values of the length of the table top.
I east value ... 2949, mm Greatest value .. 2052..... mm
2]
(b) The width of the table top is 1040 mm, measured to the nearest 10 mm.
Find the least possible perimeter of the table top.
}_ P i NS IO NS 03S + 103 S
........................................... leask = 3045 +2049 + 1092 11035
. S | /¢ [, O ———
(3]
Turn over.
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9.

(b) Expand and simplify 2x + 1) (x-95).

.................................................. :Z’LL—IOl‘kI—S
_an] sdt] adl g S Z%l—ql—‘i ..........................................................................................
................................................................................................................................................................................................................... =
(¢c) Solve Ag_Zl 3
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o N (o e ——
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(d) Simplify 6xy* X 4x°y’ e
............................................ Cxulg
................................. e T R e R
......................................................................... _ o
e T

.......................................................................................................... =
(e) Simplifyd®xa 5 +(- 2) 3

: O ...................................................................................
.................................................................................................... 0
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10. The heart rate of each of 60 people at a gym was recorded.
The following table shows a grouped frequency distribution of the results.

Heart rate, r
(beats per 80 < <90 |90 < r<100 (100 < r<110{110 < r<120|120 £ r<130|130 < r<140
minute)
Number of 4 14 7 10 g 4
people
(a) Complete the following cumulative frequency table.
Heart rate (less than) 80 90 100 110 120 130 140
il 0 4 18 40| 50 | 56 | 6O
requency
(1]
(b) On the graph paper below, draw a cumulative frequency @o show this
information. _
Curve L_'_= [3]
Cumulative frequency g }'r’C'\i‘jh F lines
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=
(¢) Use your cumulative frequency diagram to find estimates for
(i) themedian, = 30 'Hn r‘e&c”’ ( ) of 6o fﬁ”“-a"')
................................................... B 0= Y0 o T /L (P ———
(ii) the interquartile range.
et Gonie = 15t enlt (e F )
........................................................................................... o EADADM s
.................................. Upper Qluackle = 4ot resel (% o &
= [iS b.pm Bl

S0 TIa@R = 119 -499 = ‘(@b:[)vm*'

11. (a) Factorise the expressiox@\" 2& 1x& 10 and hence solve the equation
6x2-11x-10=0. — S = i

BN CD) €22 R W ——. .
...................... eiher 222920 . 00 3R A e addeho - Give- €
1x =5 e e
............................................................... - :;L““E_
.............................................................................. 57U S ————
[3]

(b) Factorise 4y” - 81. -

........................... 0T e R ——

........................... sz Zy-q>(2‘rq)

......................................................................................................................................................................................................... 3
Turn over.
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12. At lunchtime, the probability that Molly has a sandwich is 0-7.
Whether or not Molly has a sandwich, the probability that Molly has an ice cream mid-
afternoon 1s 0-2.

(a) Complete the following tree diagram.

Molly has
an ice cream

Molly has a
sandwich

Molly does not
have an ice cream

Molly has
an ice cream

Molly does not
have a sandwich

Molly does not
have an ice cream

2]
(b) Calculate the probability that Molly h as an ice cream
mid-afternoon. = :
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13. Vectors OK, OL and OM are shown in the diagram below.

]
Diagram not drawn to scale

Given that OK = 2a + b, OL = 5a + 3b and OM = 14a + 9b,

(a) express each of the following in terms of a and b in their simplest form,

() KL
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x3 —3x2-13x + 15, for values of x between x = -4 and x

6, has been

14. The graph of y
drawn below
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Y Y
(a) Use the graph to solve x3-3x2-13x+15=0.

........ Plv}w,r\/eo/\cfj:'c 4= axis

o e e ———

....................................................................................................................................................... bae %3
Bub yo cwdd woe any sized taangle !l emender + hecause’ /

(¢) By drawing an appropriate line on the graph, solve the equation

x3=3x2-13x+5=0.

................................................................................................. Duo cwve gven and. gz 10..........

(d) Use the trapezium rule with 4 strips to estimate the area of the region enclosed by the
curve y = x3=3x2-13x + 15 and the x-axis between x =-3 and-x = 1.
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........................................................ QA0 = OUO oo
> = bbb e
(b) Given thatp =5 , ¢ =+/13 and r =+/325 , simplify pgr.

:ﬁj@ﬁﬁé .......................................................................................................

exinz = |3
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